
id nombre

1 Desarrollo

2 Sistemas

3 Recursos	Humanos	

Tabla:	departamento

id nombre id_departamento

1 Pepe 1

2 María	 2

3 Juan NULL

Tabla:	empleado

empleado.
id

empleado.
nombre

empleado.
id_departamento

departamento.
id

departamento.
nombre

1 Pepe 1 1 Desarrollo	

2 María	 2 2 Sistemas	

NULL NULL NULL 3 Recursos	Humanos

Estas	filas	quedan	fuera	de	la	intersección	

El	resultado	de	la	operación	RIGHT	JOIN es:

/* SQL 2 */
SELECT *
FROM empleado RIGHT JOIN departamento 
ON empleado.id_departamento = departamento.id

1

2

3
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Juan Recursos	
Humanos	

Pepe	/	
Desarrollo

María	/	
Sistemas	

RIGHT	JOIN


